JOURNAL OF THE CHUNGCHEONG MATHEMATICAL SOCIETY Volume 15, No.2, December 2002

1

ON STABILITY OF A QUADRATIC FUNCTIONAL EQUATION

KIL-WOUNG JUN*, HARK-MANN KIM**, AND DON O LEE***

ABSTRACT. In this paper, we investigate the new quadratic type functional equation

$$f(2x+y) - f(x+2y) = 3f(x) - 3f(y)$$

and prove the stability of this equation in the spirit of Hyers, Ulam, Rassias and Găvruța.

1. Introduction

In 1940, S. M. Ulam[21] gave a wide ranging talk before the mathematics club of the University of Wisconsin in which he discussed a number of important unsolved problems. Among those was the question concerning the stability of homomorphisms:

Let G_1 be a group and let G_2 be a metric group with the metric $d(\cdot, \cdot)$. Given $\epsilon > 0$, does there exist a $\delta > 0$ such that if a function $h: G_1 \to G_2$ satisfies the inequality $d(h(xy), h(x)h(y)) < \delta$ for all $x, y \in G_1$, then there exists a homomorphism $H: G_1 \to G_2$ with $d(h(x), H(x)) < \epsilon$ for all $x \in G_1$?.

In the other words, we are looking for situations when the homomorphisms are stable, i.e., if a mapping is almost a homomorphism, then there exists a true homomorphism near it. If we turn our attention to the case of functional equations, we can ask the question: When

supported by grant No. R01-2000-000-00005-0(2002) from the KOSEF.

Received by the editors on January 18 4, 2003.

²⁰⁰⁰ Mathematics Subject Classifications: 39B72, 39B52.

Key words and phrases: Hyers-Ulam Stability, Quadratic Functional Equation.

the solutions of an equation differing slightly from a given one must be close to the true solution of the given equation ?

The quadratic function $f(x) = cx^2$ ($x \in \mathbb{R}$) satisfies the following equation

(1.1)
$$f(x+y) + f(x-y) = 2f(x) + 2f(y).$$

74

Hence, it is natural that the above equation is called the quadratic functional equation. In particular, every solution of the quadratic equation is said to be a quadratic function. It is well-known that a function f between real vector spaces is quadratic if and only if there exists a unique symmetric bi-additive function B such that f(x) = B(x, x) for all x [1, 15]. The bi-additive function B is given by

$$B(x,y) = \frac{1}{4}(f(x+y) - f(x-y)).$$

The Hyers-Ulam stability problem for the quadratic functional equation was proved by F. Skof [20] for function $f: E_1 \to E_2$, where E_1 is normed space and E_2 a Banach space. P. W. Cholewa [4] noticed that the theorem of Skof is still true if the relevant domain E_1 is replaced by an abelian group. S. Czerwik[5] proved the Hyers-Ulam-Rassias stability of the following functional equation.

Let E_1 be a normed space and E_2 a Banach space and let $\eta \geq 0$ and p > 2 be given real numbers. Let $f : E_1 \to E_2$ satisfy the condition $||f(x+y)+f(x-y)-2f(x)-2f(y)|| \leq \eta(||x||^p + ||y||^p)$ for all $x \in E_1$. Then there exists unique quadratic mapping $h: E_1 \to E_2$ such that $||h(x) - f(x)|| \leq 2(2^p - 4)^{-1}\eta||x||^p$ for all $x \in E_1$.

A. Grabiec [9] has generalized these results mentioned above. Recently, the Hyers-Ualm-Rassias stability of the quadratic equation has been extensively investigated (see [11, 12, 13]).

Consider the following functional equations :

ON STABILITY OF A QUADRATIC FUNCTIONAL EQUATION

(1.2)
$$f(2x+y) + f(x+2y) = 4f(x+y) + f(x) + f(y)$$

(1.3)
$$f(2x+y) + f(2x-y) = f(x+y) + f(x-y) + 6f(x)$$

(1.4)
$$f(2x+y) - f(x+2y) = 3f(x) - 3f(y)$$

The above equation (1.2) is the other form of quadratic equation. H. M. Kim [3] showed that (1.2) and (1.3) is equivalent to the original quadratic equation (1.1). In this paper we investigate the new quadratic type functional equation (1.4) and prove the stability of this equation in the spirit of Hyers, Ulam, Rassias and Găvruţa.

By \mathbb{N} and \mathbb{R} we denote the set of positive integers and of real numbers, respectively.

2. Solutions of (1.4)

In this section, we will show that the general solution of (1.4) is Q(x) + C, where Q is quadratic and C is a constant in Y.

THEOREM 2.1. Let X and Y be real vector spaces. A function $f: X \to Y$ satisfies the functional equation (1.4) if and only if f(x) = B(x, x) + C for some symmetric bi-additive function $B: X \times X \to Y$ and some C in Y.

Therefore every solution f of functional equation (1.4) with f(0) = 0 is also a quadratic function.

Proof. Let $f: E_1 \to E_2$ satisfy the functional equation (1.4). If we put g(x) = f(x) - f(0), we obtain that g is also a solution of (1.4) and g(0) = 0. So we may assume without loss of generality that f is a solution of (1.4) and f(0) = 0.

If we put y = -x in (1.4), we get f(-x) = f(x). By putting y = 0and y = -2x in (1.4), we see that 4f(x) = f(2x) and 9f(x) = f(3x), respectively.

Replacing x, y by x + y, $x - \frac{y}{2}$ and also x, y by x - y, $x + \frac{y}{2}$ in (1.4), respectively, we obtain that

(2.1)
$$f(x+y) - f(x-\frac{y}{2}) = \frac{1}{3}f(3(x+\frac{y}{2})) - \frac{1}{3}f(3x)$$

(2.2)
$$f(x-y) - f(x+\frac{y}{2}) = \frac{1}{3}f(3(x-\frac{y}{2})) - \frac{1}{3}f(3x).$$

Adding (2.1) to (2.2), we can get

(2.3)
$$f(x+y) + f(x-y) + \frac{2}{3}f(3x) = 4f(x+\frac{y}{2}) + 4f(x-\frac{y}{2}),$$

which implies that

$$f(x+y) + f(x-y) + 6f(x) = f(2x+y) + f(2x-y)$$

According to [3], the above equation is equivalent to f(x + y) + f(x - y) = 2f(x) + 2f(y). Hence f(x) = B(x, x) for some symmetric biadditive function.

Conversely, suppose that there exist a symmetric bi-additive function $B: X \times X \to Y$ and an element C in Y such that f(x) = B(x, x) + C for all $x \in X$. Then it follows easily that f is a solution of the equation (1.4).

3. Hyers-Ulam-Rassias Stability of (1.4)

Throughout this section X and Y will be a real normed linear space and a real Banach space, respectively. Given by $f: X \to Y$, we set

(3.1)
$$Df(x,y) = f(2x+y) - f(x+2y) - 3f(x) + 3f(y)$$

for all $x, y \in X$

We denote by $\varphi: X \times X \to [0, \infty)$ a mapping such that either

$$\Phi_1(x,y) := \sum_{k=0}^{\infty} 4^{-k} \varphi(2^k x, 2^k y) < \infty$$
 (a)

or

$$\Phi_2(x,y) := \sum_{k=1}^{\infty} 4^k \varphi(\frac{x}{2^k}, \frac{y}{2^k}) < \infty$$
 (b)

for all $x, y \in X$.

THEOREM 3.1. Assume that a function $f: X \to Y$ satisfies

$$(3.2) ||Df(x,y))|| \le \varphi(x,y)$$

for all $x, y \in X$. Then there exists a unique quadratic function $Q : X \to Y$ satisfying (1.4) such that

(3.3)
$$||f(x) - Q(x) - f(0)|| \le \frac{1}{4} \Phi_1(x, 0) \text{ if } \varphi \text{ satisfies } (a).$$

(3.4)
$$||f(x) - Q(x)|| \le \frac{1}{4}\Phi_2(x,0) \text{ if } \varphi \text{ satisfies } (b)$$

for all $x \in X$.

If, moreover, f is measurable or $\mathbb{R} \ni t \to f(tx)$ is continuous for each fixed $x \in X$, then Q satisfies the condition $Q(tx) = r^2 Q(x)$ for all $x \in X$ and $r \in \mathbb{R}$.

Proof. Let $g: X \to Y$ be the function defined by g(x) = f(x) - f(0). Then g(0) = 0 and

$$||Df(x,y))|| = ||Dg(x,y))|| = ||g(2x+y) - g(x+2y) - 3g(x) + 3g(y)||$$

(3.5) $\leq \varphi(x,y)$

for all $x \in X$.

Putting y = 0 in (3.5) yields

(3.6)
$$||g(2x) - 4g(x)|| \le \varphi(x, 0).$$

Thus

(3.7)
$$||\frac{g(2x)}{4} - g(x)|| \le \frac{1}{4}\varphi(x,0).$$

Assume that φ satisfies the condition (a).

Applying the induction argument to n we obtain

(3.8)
$$||\frac{g(2^n x)}{4^n} - g(x)|| \le \frac{1}{4} \sum_{k=0}^{n-1} 4^{-k} \varphi(2^k x, 0).$$

Hence, using (3.7), we see that

$$\begin{aligned} ||\frac{g(2^{n}x)}{4^{n}} - \frac{g(2^{m}x)}{4^{m}}|| &= \frac{1}{4^{m}} ||\frac{g(2^{n-m}2^{m}x)}{4^{n-m}} - g(2^{m}x)|| \\ &\leq \frac{1}{4} \sum_{k=0}^{n-m-1} 4^{-k-m} \varphi(2^{k+m}x, 0) \end{aligned}$$

for all $n, m \in \mathbb{N}$ with n > m and $x \in X$. This shows that for any $x \in X$ $\{\frac{g(2^n x)}{4^n}\}$ is a Cauchy sequence in Y and thus converges. Therefore we can define a function $Q: X \to Y$ by

$$Q(x) = \lim_{x \to \infty} \frac{g(2^n x)}{4^n} = \lim_{x \to \infty} \frac{f(2^n x)}{4^n}$$

for all $x \in X$.

Substituting $2^n x$ and $2^n y$ for x and y in (3.2), we have

$$||f(2^{n+1}x + 2^n y) - f(2^n x + 2^{n+1}y) - 3f(2^n x) + 3f(2^n y)||$$

$$(3.9) \leq \varphi(2^n x, 2^n y)$$

Dividing both sides by 4^n and taking the limit as $n \to \infty$ in (3.9) we find that Q satisfies the equation

(3.10)
$$Q(2x+y) - Q(x+2y) - 3Q(x) + 3Q(y) = 0.$$

Since Q(0) = 0, Q is a quadratic function by Theorem 2.1. Taking the limit in (3.8) as $n \to \infty$, we obtain

(3.11)
$$||Q(x) - g(x)|| \le \frac{1}{4}\Phi_1(x, 0)$$

for all $x \in X$. Consequently, we know that (3.3) holds.

If Q' is another quadratic function satisfying (3.11), then we have

$$\begin{aligned} ||Q(x) - Q'(x)|| &\leq \frac{1}{4^n} ||Q(2^n x) - Q'(2^n x)|| \\ &\leq \{||Q(2^n x) + f(0) - f(2^n x)|| + ||f(2^n x) - f(0) - Q'(2^n x)||\} \\ &\leq \frac{1}{4^n} \frac{\Phi_1(2^n x, 0)}{2} \longrightarrow 0 \quad as \quad n \to \infty. \end{aligned}$$

for all $x \in X$. Therefore we can conclude that Q(x) = Q'(x) for all $x \in X$. Assume that φ satisfies the condition (b). Then we easily see that f(0) = 0 and f = g since the series (b) converges for x = 0.

Replacing x by $\frac{x}{2}$ in (3.9) we get

$$||f(x) - 4f(\frac{x}{2})|| \le \varphi(\frac{x}{2}, 0)$$

for all $x \in X$.

Applying the induction argument to n we obtain

(3.12)
$$||f(x) - 4^n f(\frac{x}{2^n})|| \le \frac{1}{4} \sum_{k=1}^n 4^k \varphi(2^{-k}x, 0)$$

Hence the following inequality

$$||4^n f(\frac{x}{2^n}) - 4^m f(\frac{x}{2^m})|| \le \frac{1}{4} \sum_{k=1}^{n-m} 4^{k+m} \varphi(2^{-k-m}x, 0)$$

holds for all $n, m \in \mathbb{N}$ with n > m and $x \in X$. This shows that for any $x \in X \{4^n f(\frac{x}{2^n})\}$ is a Cauchy sequence in Y and thus converges. Therefore we can define a function $Q: X \to Y$ by

$$Q(x) = \lim_{x \to \infty} 4^n f(\frac{x}{2^n})$$

for all $x \in X$.

Substituting $2^{-n}x$ and $2^{-n}y$ for x and y in (3.2)

$$\begin{aligned} ||f(2^{-n+1}x+2^{-n}y) - f(2^{-n}x+2^{-n+1}y) &- 3f(2^{-n}x) + 3f(2^{-n}y)|| \\ &\leq \varphi(2^{-n}x,2^{-n}y). \end{aligned}$$

Multiplying on both sides by 4^n and Taking the limit as $n \to \infty$ in the above inequality we find that Q satisfies the equation

(3.13)
$$Q(2x+y) - Q(x+2y) - 3Q(x) + 3Q(y) = 0.$$

Thus Q is quadratic. Taking the limit in (3.12) as $n \to \infty$, we obtain

(3.14)
$$||Q(x) - f(x)|| \le \frac{1}{4}\Phi_2(x,0)$$

for all $x \in X$. Consequently, we know that (3.4) holds.

The rest of the proof is similar to the case (a).

From the main Theorem 3. 1, we obtain the following corollary concerning the stability of the equation (1.4)

COROLLARY 3.2. Let p > 0, $\theta \ge 0$, and $\epsilon > 0$ be real numbers such that $\theta = 0$ if p > 2. Assume that a function $f : X \to Y$ satisfies

$$||Df(x,y))|| \le \theta + \epsilon(||x||^p + ||y||^p)$$

for all $x, y \in X$. Then there exists a unique quadratic function Q: $X \to Y$ satisfying (1.4) such that in case 0

$$||f(x) - Q(x) - f(0)|| \le \frac{1}{3}\theta + \frac{1}{4 - 2^p}\epsilon||x||^p$$

for all $x \in X$, while in the case p > 2

$$||f(x) - Q(x)|| \le \frac{1}{2^p - 4} \epsilon ||x||^p$$

The following corollary is an immediate consequence of Theorem 3.1.

COROLLARY 3.3. Assume that a function $f: X \to Y$ satisfies

$$||Df(x,y))|| \le \theta$$

for all $x, y \in X$. then there exists a unique quadratic function $Q: X \to Y$ satisfying (1.4) such that

$$||f(x) - Q(x) - f(0)|| \le \frac{\theta}{3}$$

for all $x \in X$

Let X be a normed linear space and define $H : \mathbb{R}_+ \times \mathbb{R}_+ \to \mathbb{R}_+$ and $\varphi_0 : \mathbb{R}_+ \to \mathbb{R}_+$ such that

$$\begin{split} \varphi_0(\lambda) &> 0 \quad \text{for all} \quad \lambda > 0, \\ \varphi_0(2) &< 2, \\ \varphi_0(2\lambda) &\leq \varphi_0(2)\varphi_0(\lambda) \quad \text{for all} \quad \lambda > 0 \\ H(\lambda t, \lambda s) &\leq \varphi_0(\lambda)H(t, s) \quad \text{for all} \quad t, s \in \mathbb{R}_+, \quad \lambda > 0. \end{split}$$

We consider the following in the next corollary. Let

$$\varphi(x, y) := H(||x||, ||y||).$$

Then

$$\varphi(2^{k}x, 2^{k}y) = H(2^{k}||x||, 2^{k}||y||)$$

$$\leq \varphi_{0}(2^{k})H(||x||, ||y||)$$

$$\leq (\varphi_{0}(2))^{k}H(||x||, ||y||)$$

and because $\varphi_0(2) < 2$ we have

$$\begin{split} \Phi_1(x,y) &\leq \sum_{k=0}^{\infty} 4^{-k} (\varphi_0(2))^k H(|||x||, ||y||) \\ &= \frac{1}{1 - \varphi_0(2)/4} H(||x||, ||y||). \end{split}$$

Hence, we can see that the following corollary holds.

COROLLARY 3.4. Assume that a function $f: X \to Y$ satisfies

$$||Df(x,y))|| \le H(||x||, ||y||)$$

for all $x, y \in X$. Then there exists a unique quadratic function Q: $X \to Y$ satisfying (1.4) such that

$$||f(x) - Q(x) - f(0)|| \le \frac{H(||x||, 0)}{4 - \varphi_0(2)}$$

for all $x \in X$

References

- J. Aczżl and J. Dhombres, Functional equations in several variables, Cambridge Univ. Press (1989).
- J. Baker, The stability of the cosine equation, Proc. Amer. Math. Soc. 80 (1980), 411–416.
- I. S. Chang and H. M. Kim, On the Hyers-Ulam stability of quadratic functional equations, J. Ineq. Pure App. Math. 3 (2002), No. 3 Art. 33 1–12.
- P. W. Cholewa, Remarks on the stability of functional equations, Aeq. Math. 27 (1984) 76–86.
- S. Czerwik, On the stability of the quadratic mapping in normed spaces Abh. Math. Sem. Univ. Hamburg 62 (1992), 59–64.
- G. L. Forti, Hyers-Ulam stability of functional equations in several variables, Aeq. Math. 50 (1995), 143–190.
- Z. Gajda, On stability of additive mapping, Internat. J. Math. Math. Sci 14 (1991), no. 3, 431–434.
- P. Găvruţa A generalization of the Hyers-Ulam-Rassias stability of approximately additive mappings, J. Func. Anal. 46 (1982), 126–130.

- A. Grabiec, The generalized Hyers-Ulam stability of a class of functional equations, Publ. Math. Debrecen 48 (1996), 217–235.
- D. M. Hyers, On the stability of the linear functional equation, Proc. Nat. Acad. Sci. U.S.A. 27 (1941), 222–224.
- K.-W. Jun and J.-H. Bae, On the generalized Hyers-Ulam-Rassias stability of an n-dimensional quadratic functional equation, J. Math. Anal. Appl. 258 (2001), 183–193.
- K.-W. Jun and Y.-H. Lee, On the Hyers-Ulam-Rassias stability of a generalized quadratic equation, Bull. Korean Math. Soc. 38 (2001), 261–272.
- K.-W. Jun and Y.-H. Lee, On the Hyers-Ulam stability of a pexderized quadratic property, Math. Ineq. App. 4 (2001), No. 1, 93–118.
- S. M. Jung, On the Hyers-Ulam-Rassias stability of a quadratic functional equations, J. Math. Anal. App. 232 (1999), 384–393.
- P. Kannappan, Quadratic functional equations and inner product spaces, Results Math. 27 (1995), 368–372.
- John. M. Rassias, On the Hyers-Ulam stability of linear mappings, J. Math. Math. Sci. 173 (1993), 325–338.
- John. M. Rassias, On approximation of approximately linear mappings by linear mappings, J. Func. Anal. 46 (1982), 126–130.
- Th. M. Rassias, On the stability of the linear mapping in Banach spaces, Proc. Amer. Math. Soc. 72 (1978), 297–300.
- Th. M. Rassias, On the stability of functional equations in Banach spaces, J. Math. Anal. App. 251 (2000), 264–284.
- F. Skof, Proprietà locali e approssmazione di operatori, Rend. Sem. Mat. Fis. Milano 53 (1983), 113–129.
- S. M. Ulam, "Problems in Modern Mathematics", Cahp. VI, Wiley, New York (1960)

KIL-WOUNG JUN DEPARTMENT OF MATHEMATICS CHUNGNAM NATIONAL UNIVERSITY DAEJON 305-764, KOREA *E-mail*: kwjun@math.cnu.ac.kr

**

Hark-Mann Kim Department of Mathematics Chungnam National University Daejon 305-764, Korea

E-mail: hmkim@math.cnu.ac.kr

DON O LEE INFORMATION CENTER FOR MATHEMATICAL SCIENCES KOREA ADVANCED INSTITUTE OF SCIENCE AND TECHNOLOGY 373-1 GUSEONG-DONG, YUSEONG-GU DAEJEON, 305-701 REPUBLIC OF KOREA *E-mail*: donolee@icms.kaist.ac.kr

84

*